MPM 1D – Direct Variation Examples – do on a separate sheet!
1. You leave home, and then travel 70 km in 4 hours. Let d represent your distance from home (in km), and t the number of hours your drive.

a) Find the rate of change and write an equation relating distance and time. Include units.

b) Make a table of values showing values of t between 1 and 5.
c) Find the distance travelled in 13.2 hours (use your equation).

d) How long it would take to travel 170 km (use your equation)?


2. The income at a music concert (i in $) depends on the number of people (n) that attend. The table of values below shows the relationship between i and n. 

a) Find the rate of change. Include units. What does the rate of change represent in this case?
b) Write an equation relating your variables

c) Use your equation to determine how much money was earned when 530 people attended.

d) Use your equation to determine how many people attended when the income was $13598.
	n (people)
	i ($)

	0
	0

	50
	1300

	100
	2600

	150
	3900

	200
	5200



3. The depth of a submarine relative to sea level (d in m) vs. time (t in s) is shown in the graph below. 


a) Find the rate of change. Include units.
b) Find an equation relating depth &time

c) Use your equation to determine the depth of the submarine after 21.5 s
d) The Mariana Trench is the deepest point in the Pacific Ocean with a depth of  10 911m. How long would it take the submarine to reach the bottom (if it could)?
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4. The equation h = 0.4d relates the height of a plant, h in cm, to the number of days, d, since it was planted. 

a) What is the rate of change? Include units.

b) What does the rate of change represent/mean?

c) Use your equation to determine the height of the plant in 3 weeks time.
c) Use your equation to determine how many days it will take for the plant to be a meter tall.
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Answers: 1a) 17.5 km/h	c) 231 km	d) 9.7 h or 9 h 42 m	�2. a) $26/person	b) i = 26n	c) $13870	d) 523 people


3. a) -5 m/s	b) d = -5t	c) -107.5 m 	d) 2182.2 s or 36 m 22 s


4. a) 0.4 cm/day	b) how many cm is grows in a day	c) 8.4 cm	d) 250 days








